Problem 5

[image: image1.png]Consider the following game between Sony. a manufacturer of video cassette players, and
Calumbia Pictures, a movie studio. Each firm must decide whether to use the VEIS of Befa
format - Sony to male video players, Coluambia to release its movies for rental o purchase.

Columbia Pictures

Bel VHS
Sony Bea .10 0.0
VES 0.0 10.20

4) Suppose this is a simulfaneous-mave, one-shot game. Resiict aitention fo pure
stategies. Does either firm have 2 dominant strategy? Identify the Nash equilibriven or





[image: image2.png]equilibria for this game. [For extra practice, you can caleulate the mivedstrategy NE,
but you do not have to furm that part n .. |

Now suppose this s a sequentialmove game in which Sony moves first. Waite down 2
complete list of Sony’s possible srategies, and of Columbia s possible sirategies.

Draw an extensive form for the sequentiabmove game described in part b). Make sure
‘you identify which player is “moving” at each decision node, and indicate the payoffs to
each possible outcome of the game.

For the sequentialmove game described in part b, identify a Nash equilibrive thatis
subgame perfect, and a Nash equilibrivan that is aot subgame perfect.




Problem 6

[image: image3.png]Consider the following modification of the game described in Problem 3: Suppose now that
Dana (a stronger negoriator than Blai) decides to present Blair with 2 fake-ii-cr-leave-it offer
Dana will offer Blar 2 particular share, Xp, of the proceeds, and will keep the rest (Xp = 200 —
Xa). Blair can choose to accept the offer,in which case Blir and Dana will split the $200
according o Dana’s proposal, or o seject it — in which case Mordecaithe Mediator gets the entire
$200

) Describe the Nash il (o equiia) o his sequentiaanore g Beplsi

by Toeuisy a subgae prtct Noh equibriu fo this . Explsn you essoing

©) D you ik the subgame petet Nash equilbrion you deatified i part &) s e
most ey oucom of s gae? Briey expin.





